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Plot Sensor and FgRec Data

0. 04 -

0.02

0. 00 -

-0. 02 ~

—0. 04 ~

—o— dFVI
dFVo

day

2400

2300 -

2200

2100 -

2000

1900 ~

1800

-»%- fz stock_ec

—>— ECB*10%

1ing: col ['ECC’] is missing

day

6.6 7

6.4

6.2

6.0

5.8

9.6 7

—>—  PHB*10%

Warning: col ['PHC ] is missing

day

800 -

600 -

400 ~

200

—&— DUC

day

500 ~

400 ~

300 ~

200 -

100

—&— FRV

day

0. 64

0. 62

0. 60 -

0. 58 -

0. 56

—&— FRC

day




Plot [["1", 'lopt'],

['T", "Topt’], ['RH', 'RHopt'],

['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

450

400 -

350

300 -

250 -

200 -

— |opt

100

125

150

30 -

25 A

20

15 4

50

75

T
100

T
125

T
150

T
175

50

75

T
100

T
125

T
150

T
175

800 -

600 -

400 -

200

—  ETcl
———  optETcl

25

50

75

100

125

150

175

— LAl

25

50

75

100

125

150

175

optEtRate

25

50

75

100

125

150

175




250

200

150

100

50

Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
—8—  setVl ETel |
—0— setVl_fgRec
—@— setVI_VN .
/ \ —@— slSetVI
@ @ @ @ @ @
,-‘ ° :;/‘ $ $ =
,_._4.: ®
10.0 12.5 17.5



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2200

2000 -

1800 ~

1600

Warning: col ['ECC’, 'FVIEC'] is missing

—&— ECI




Plot [['FVOEC:r-o’, 'ECO:g—o’]]

—&— ECO
3000

2600

2400
2200 -
2000

Warning: col ['FVOEC'] is missing
1800 +




Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
709 —o— PHI
6.8 1
6.6
@ @ @
6.4
6.2
Warning: col ['PHC’, 'FVIPH ] is missing
6.0
2 3 4 5 6 7 8 9




Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0 4 @ —&— PHO
6.9
6. 8
6.7
6.6
Warning: col [FVOPH' ] is missing

6.5 1 ®

2 3 4 5 6 9




Trend plot forP3-6_0

minFVI
minFVO

Warning: col ['minFVlraw , 'minFVOraw’ ] lis missing

o ETcAlraw
—  ETcA1
—@— ETcA

0.45

0. 40

® @ ® @ @ ® @ @ @ @ ® @ @ @ @ ® @ —

[
1
:
|
|
|
|
|
|
|
I
|
|
|
|
0. 35 !
|
|
|
0. 30 i
|

Warning: col [ ETcA2raw’, 'ETcA2'] is mi%sing

0. 25 - L :

0.0 0.2 0.4 0.6 0.8 1.
10 1 1 1 1

0.8 -

0.6 1

0.4 -

0.2 A
Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

3000

2750

2500

2250 -

2000

1750 ~

ECopt
ECI
ECO

Warning: coll ["ECC’'] is missing

PHopt
PHI
PHO

EXUNEXX,

Warning: col|l ['PHC'] is mi

31.5 1 —@— WCperM

31.0

30. 5

e e ———— e

30.0 p—@ @ @ @ @ @ @ @ @

|
|
29.5 - !
|
|
29.0 1 :
Warning: coll ['WCperMraw', ’'WCperMavg'] :is missing
28.5 !
1
1 = 1 1 1
0.50 4——@ O O O e o O O O ? o O O O e o O O O o) O O O O o) O O o—
|
|
0. 45 1
|
|
|
0. 40 - 1
|
| —@— minDeltaM
0. 35 A : —@®— avgDeltaM
: —0— stdDeltaM
0.30 y——@ O O O ') o O O O + o O O O ') o O O O ') o O O O ') o O o—
|
|
0. 25 - :
|
|
0.20—»—000000000?000000000000000000—1
1 1 1 1 1
30 9—@ O O O e o O O O ? o O O O e o O O O e o O O O e O _o— bea |
: —@—  maxM
98 : —@— minM
|
|
|
26 - i
— O O O o) O O O O * O O O O o) O O O O o) O O O O o) O O o—
|
24 1 }
|
|
|
22 :
|
|
|
20—»—000000000?000000000000000000—1
1 = 1 1 1
: ad jFVOR
0. 04 1 :
|
|
|
0.02 1 :
|
|
|
0.00 T
|
|
|
0. 02 :
|
|
|
0. 04 - Warning: col ["adjFVIRraw', "adjFVIR", "hdjFVORraw' ] is missing
|
1
1 = 1 1 1
[ J o o o [ [ ] [ [ ] ’ o o [ ) o [ ) o o [ ) o [ ) o o [ ) o o o o o [
064 @ :
) e m :
*\\\\,////F——* I ¢ '
|
0.5 I
|
[ ) |
|
|
0.4+ |
|
|
:
034 @ FRA 1
® FRC :
[ ) FRraw :
0.24 — FR ° !
1 = 1 1 1
|
|
|
|
|
|
|
i
|
|
i
|
|
1
|
|
[
|
|
|

160

o postFgEtraw
—0— postFgEtavg
—@— postFgEt

140

120

100

80 -

60

40 ~

20




100

FgDaily

o
[e]

- 60

- 40

20




350

300

250

200

150

100

50

200

180

160

140

120

100

80

60
28

26

24

22

20

18

16

14

12

500

450

400

350

300

250

360

340

320

300

280

260

240

220

200

60

55

50

45

40

35

30

500

400

300

200

100

P3-6_0

7 —@— ETcl
—®— ETbai

y ]
//\// g
yd A\/‘//
o
— — .
/.\‘//
//\f//

/ ]
/ N/
/
IR — e N\ o
//\\ /\\ / B
/ \\ / oY
N\ /
Y

AN
N
\/‘\
e e
~— \‘k\‘\.;<
[ e =

10

12

14



ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

ETcl ETcldef ETcP ETcPT ETclis ESo ETol ETbai  pR pVPD

RH

1.00

0.75

0.50

-0.25

-0.00

--0.25

-0.50

-0.75



ETcl

ETol

VN

250 7 7 ° 7 e e 7 7 °

200 -

150 ~

100 ~

50 -
1800 A

1600 -

1400 -

1200 ~

1000 -

800 -

27.5 o
25.0 - ° -
22.5 s 1
20.0 - % -
17.59 © - °
15.0 -

12.54 o 1o

55 - .

45 _

RH
°
°

40 i
35 4 ° .

30 - ® e .

200 - .
175 ~ .
150 A .
125 A .

100 ® -

350 ~ L .

325 1 e o PY T o0 PY (] [ J °

300 [ - [ J - [ 4 @ i

275 (] ® ® ® (]

250 : : : :

225 : : : :

2004 ® i ° i ° i ° l o

T T T T T T T T T T T T
50 100 150 200 250 750 1000 1250 1500 1750 15 20 25 30 40 50 60 100 150 200 200 250 300 350
ETcl ETol T RH VN I




1000

800

600

400 ~

200

1.0

0.8

0.6

0.4

0.2

0.0

® obs
Fit

100 150

baiA

baiB

0.4514

0. 0044

0.0

0.2

0.4

0.6 0.8

1.

obs

200 -
180 -
160
140 -
120 -
100 -
g0 @

60 -

1.0

0.8 -

0.6 1

0.4

0.2

0.0

Fit vs obs: a=0.84, b=20.47, r=0.77

75

100

125
Fit

150

175

0.0

0.2

0.4

0.6

0.8

1.

0



hour

7:35

9:35

12:15

100

80

- 60

- 40

20



P3-6

BYE) | GEBERTIC (B)) | EBE (EAH/#) | XS R

06:35 93 50.0 5 Fi#A@06:35 (FRFAfEEES)
07:35 93 50.0 & FiHHe07:35 (FRF1EES)
09:35 93 50.0 5 Fi#A@09:35 (FRAAIERES)
12:15 93 50.0 5 FiHfe12:15 (REERS)
23| 372.0 4k) 200. 0 32 03KEC: 1900.0, PH: 6.3

FHEKRECE (2140.0 vs 2830.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=10 (2025-04-08)

V1, VE3RRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET
450

- 600

0.6 L 400

TargetEC=2300. 0,  TargetSetEC=1900. 0

TargetPH=6. 5, TargetSetPH=6.3

0.0

100 1 ByWoFyv @D19 02:44: ET=180 Fg=200.0 Ro=12.0

50 -

1 40
174 180[ 500
0.2
00 00

S
o
o

=T

T
w
(=}
o

T
N
o
o

T
—_
o
o

cumET (ml/plant)

1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0ol P | B | W | # | F | W | | m | % | #E | #E | B | R | B | & | m& | #& | 0A | 0A | A | B3 | B3 | B3 | A

0.6 1

0.4+

0.2~

800 4
600 -

400 -

200 -

0 \ A A Warhing:A:oI [Al o

, 'PPFD_obs’] is missing

30 1

25 A

20 7 “To_obs’ ] is missing

Warning: lcol ['RH obs’, 'RHo obs’] is missY

o VPD

1.0

0.8 ~

0.6 1

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.

0

FRV (ml d-1)



100

6:40
80

7:40
- 60

E 10:15
- 40

12:50
20

14:55

0
& 3




P3-6

Bfig) | JEBATK (FD) | ERE (A | KR e

06:40 120 50.0 | = B1%@06:40 (KRFERSE)
07:40 120 50.0 |Z= B318@07:40 (KRF{ERLEE)
10:15 120 50.0 |Z= B1%010:15 (REERSE)
12:50 120 50. 0 5 Brig@12:50 (FRFEREE)
14:55 120 50.0 = 1B2ig@14:55 (KREERSE)
2it| 600.0 (5%) 250.0 3ZHKEC: 1900.0, PH: 6.5

EOREBRTC (120. 0) 57 8A (93. 0) NFF, FIREHR T % MEEZRSE XER

ZRIAKPRIEBL65. 0 ml.




FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=9 (2025-04-07)

------------------------------------------------------------------------------------- - 600
V1, VE3RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

539
40 1440 0 >0
. - 400
20 9 o el 200
I Warning: lcol ["FVI',| "FVO'] missing | I
-0

FRV (ml d-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

100 +
Vi —— ME #30
] FRV M
75 max | og
ol ]
HEEIEN -
25 i il - ] il —T - 24
|
- 22
10 I 1 1 il 1 i
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2300. 0,  TargetSetEC=1900. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @10 02:44: ET=234 Fg=250.0 Ro=20.0 600 o
100 - ! S
I - 400 2
| E
) 1
%0 : - 200 i
0 —an a la 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
| V8 | | % | fe | #& | ms | Re | Fe | P& | R& | B | FE | Fe | e | RE | Fm | RE | RE | B | RE | Fe | m& | R8s | °°0 5
1 c
100 1 ByEt @D9 18:09: ET=317 Fg=455. 0 Ro=nan —o—o—9o—9o o o oo 200 =
B ~
: E
50 - - 200 i
p——& @ © [S] 3
0Op—a o S S 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
BB | W | W55 |2212222 2215255 B | B | % |/ |’ | % | m | & | % | f | % | M | & |00
1 c
100 1 ByWoFv @D10 02:44: ET=184 Fg=250. 0 Ro=20.0 2
: -400§'
1 E
50 4 : —o—8—6—8 $— ‘ 1 ZOOU'_J
1 5
—— e le [S] o— o
1
10— __la PN PR — | \1/ i E— 0

osl B | T8 |7 | W |Bz12% 2227187187152 % | % | % | @ | & | | % |m | @ | & @ |®|®

0.6

0.4+

0.2~

2000

—_— 4
o | _obs

—@— PPFD obs

1500

1000 A

500 A

49 ‘e ® e v P
apee
7 -
2_
1
"""" -—_ 00—
0 2 4 6 8 10 12 14 16 18 20 22 24



23.75

23. 50 A

23. 25 A

23. 00

22.75 A

22. 50 A

M_E

T T T T
600 700 800 900

m=690,m FV0=0

500

22.70 A

22.68

22. 66

22. 64

22. 62 A

22. 60 ~

—o— ME

=

695 700

48

47 -

46

45 ~

44 -

—o— MW

/3

600 700 800 900

m=690,m FV0=0

500

46. 4

46. 3

46. 2

46. 1 1

46.0

45.9 -

-— MW

it

695 700

m=480, FV0=0

23. 8 -

23.6 -

23. 4 4

23.2 A

23.0 A

—&— M_E

T
480

485
m=720,n FV0=0

T
490

22. 80 A

22.78 A

22.76 A

22.74 A

22.72 A

22.70 A

—o— M_E

T
720

7é5
m=480,n FV0=0

T
730

48. 2 -

48. 0

47.8 A

47.6 -

47.4 1

47.2 -

—— MW

480

485
m=720,n FV0=0

490

45. 8 A

45.7 A

45.6 -

45.5 A

45. 4 -

- MW

720

725

730

23.

23.

23.

23.

23.

22.

22.

22,

22.

22.

48.

48.

48.

48.

48.

47.

47.

44.8

44.7 -

44.6 -

44.5 -

44. 4 1

m=540, FV0=0

50 A

45

40 ~

35 -

30 A

—e— ME

T
540

5&5
m=780,n FV0=0

T
550

80 A

—o—

75 -

70

65

60

M_E

780

7é5
m=540,n FV0=0

T
790

20 A

15

10

05 ~

00 -

95 ~

90 -

—o— MW

540

5&5
m=780,n FV0=0

550

-— MW

780

785

790

m=600, FV0=0
23. 20 - o NE
23.15 -
23.10 -
23. 05 -
23. 00 -
T T T
600 605 610
m=840,m FV0=0
23. 00 - — N
22. 95 -
22. 90 -
22. 85 -
22. 80 -
T T T
840 845 850
m=600,m FV0=0
47.70 - ~——
47. 65 -
47. 60 -
47.55 -
47.50 -
47. 45 -
47. 40 -
600 605 610
m=840,m FV0=0
44.3 - — W
44.2 -
44.1 -
44.0 -
43.9 -

840 845 850




hour

6:40
9:35
12:20

100

80

60

40

20



P3-6

BfiE) | EBATK (7)) | EME (EAH/H) | XX R

06:40 120 50.0 = 1118006 :40 (KRF{ERLEE)
09:35 120 50.0 5 B1%@09:35 (KRFERSE)
12:20 120 50.0 5 Bi%012:20 (REERSE)
23t| 360.0 (3%) 150.0 32 3KEC: 1900.0, PH: 6.3

EORGERRRTC (120. 0) 5780 (91. 0) 1%, AR T % AREERS 2 X ER
ZRINKPRIEBL66. 0 ml.



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=8 (2025-04-06)

------------------------------------------------------------------------------------- L 600
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 539
390 L 400 -
60 00 E
201 164 168} 200 Z
L
I Warning: lcol [FVI',| "FVO’'] missing I
100 + L0
Vi —— ME #30
] FRV M
75 maxM | g
ol Lo ¢t . o a0 o | | | |m
HEEIENE -
25 i il - ] il T - 24
! v - 22
10 I 1 1 1 1
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2300. 0,  TargetSetEC=1900. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.3 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @D1Q 02:44: ET=221 Fg=300.0 Ro=30.0 4600,\
100 - I =
1 =
: - 400 <
I E
50_ : —
" -200'-'§J
1 o
0 p—=amp = | Y e — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
ol B F|w[w|lw (|| d| w K F|r f| w|w [ w | [c|6][m[&]H 600
i 1 c
ByEt @D8 18:08: ET=323 Fg=462. 0 Ro=nan & ® © ® © i:_
: - 400 X
I E
50_ I —
>
(6]
& 6 &0
0 — PN P o \‘l\— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
ol AL P | W [w[m|m|sx[m [m|m|m[m[W[Ex[5=|5x[m [W[E=]5=]| M [W [EX[°C5
. 1 C
ByWoFv @D10 02:44: ET=168 |[Fg=150.0 Ro=12.0 L;_
: - 400 X
I E
50_ : —
" -200'-'§J
1 o
p———— 1O [C]
1.0 — a___la & 0
0 1 2 3 4
osl fE | B [ | BE | R
0.6 -
0.4 1
0.2 A
|
| _obs
PPFD_obs
: e v #
()




23. 50 - ME
23. 25 A
23. 00 A
22.75 A
22.50 -
22.25 - T T T T T
500 600 700 800 900
m=690,m FV0=0
22. 60 - - M_E
22.55 A
22.50 -
22. 45 A
22. 40 A
T T T
690 695 700
m
—-&— MW
46
45 -
44 -
43
500 600 700 800 900
m=690,m FV0=0
45.0 A ~ MW
44.9 ~
44. 8
44.7 -
44. 6

695 700

m=480, FV0=0

2261 o wE
23. 4 -
23.2 -
23.0 -
22.8 -
T T T
480 485 490
m=720,m FV0=0
22. 60 - — NE
22. 55 -
22.50
22. 45 -
22. 40 -
T T T
720 725 730
m=480,m FV0=0
46. 6 -
46. 4 -
46. 2 -
46.0 -
45.8 -
—— MW
480 485 490
m=720,m FV0=0
44.6 — NI
44. 4
44.2
44.0 -

720 725 730

23.

23.

23.

23.

23.

22.

22.

22,

22.

22.

46.

46.

46.

46.

46.

43.

43.

43.

42,

42.

m=540, FV0=0

60 1 —o— ME

55

50

45

40

540 545 550

m=780,m FV0=0

60 -

55 -

50 A

45

—o— ME

<f
T

40 -
780 785 790
m=540,m FV0=0
50
45 -
40 -
35 -
20 - —— MW
540 545 550
m=780,m FV0=0
10

05 A

00 -

95 ~

90 -

-— MW

if
i

785 790

23.

23.

23.

22.

22.

22.

22.

22.

22.

22.

22.

22.

m=600, FV0=0

10

05 -

00 -

95 A

90 -

85

80

—0— ME

665 6%0
m=840,n FV0=0

80 A

75 -

70 A

65 -

60 -

—o— M_E

8&5 860
m=600,n FV0=0

46. 3 A

46. 2

46. 1

46.0 -

45.9 -

42.

42.

42.

42.

42.

42.

42.

—0— MW

f

665 6%0
m=840,n FV0=0

600

60

55 -

50

45 -

40 4

35 A

30 -

-— MW

840 845 850




100

80

- 60

hour

- 40
20

7:35
10:20
13:00
1 1 1 1

Q) I/ \2\
45%'g§645§ *égé
TV




P3-6

BfiE) | EBATK (7)) | EME (EAH/H) | XX R
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23t| 540.0 (3%) 150.0 32 3KEC: 1900.0, PH: 5.8

EOREBRTKC (180. 0) 57 #A (89. 0) N Ff, FIHEH T % MEERSE XER

ZRIASLPRIERE101.0 ml.
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Warning: lcol ["WC1',  "WC2'] missing
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TargetPH=6. 5, TargetSetPH=5.8

Warning: lcol ['PHB’,| 'PHC’'] missing
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BfiE) | EBATK (7)) | EME (EAH/H) | XX R

06:45 210 50.0 |Z= 318006 :45 (KRF{ERLEE)
07:50 210 50.0 |Z= B1%@07:50 (RFERSE)
12:40 210 50.0 1] Big@12:40 (KRFBERES)
23| 630.0 (3%) 150.0 3203 KEC: 2080.0, PH: 5.8

EREBRTK (210. 0) 5 T8A (89. 0) N FF, FIREH T % MEERSE XER

ZRIASLPRIERE118.0 ml.

large discrepency for begining water status (47:210.0), set to 80.0 ml.

E3&KEC (1995.0 vs 2185) 1&1E




P3-6_0, Day=6 (2025-04-04)

40

1

20 A

150—(

100 A

a1
o
1

FRV (ml plant-1)

1.0

V1, VE/ERV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

.
4

Vi — ME
FRV

maxM
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